
N
F

0

&

5
62

E

8

[I!

3

.C?

S
fl

I.

2.

3.

4.

5.

1.

fjoor

123 NE Beacon Dr.

Grants Pass, OR 97526

GLAZED OR OPAQUE WOOD DOOR
W / SIDELITES AND TRANSOM

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building Code
(FBC) structural requirements excluding the "High Velocity Hunicane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

SHEET#

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

TABLE OF CONTENTS

DESCRIPTION

Test elevations, design pressures and general notes
Door panel details (glazed)

Door panel details (opaque)
Sidelite panel details (3/4 lite)
Sidelite panel details (full lite)
Transom panel details {full lite)
Horizontal cross sections

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck onchoring
Frame anchoring - 2X buck

Frame anchoring - 1X buck
Lock details

Components

Bill of materials, components and glazing detail

E

R

2
I

LL

1 1

3
m

I

LL

l

/9

DOOR

*PANEL

t;TYPE9,

OPAQUE

HALF LITE

0

III

118.75' MAX OVERALL FRAME WIDTH

1

1 ,

0

--Fl

OVERAU:

) FRAME:

30/MENSION

118.75" x

135.87"

118.75" x

135.87"

X

j DOOR
=MAX. D.LO.

DIMENSION{

N/A

33.00" x 51.87"

1/

0

18

111,

MAX D.LO.

DIMENSION ,

116.25" x 33.5"

116.25" x 33.5"

81.25" MAX.

OVERALL FRAME WIDTH

GLASS:

41'FEd

G1

A
Iii

IiI

111

DESIGN PRESSURE'(PSF)

2POS/UVE I NEGATIVE

+47.0

+47.0

0

-50.0

-50.0

0
es
0
0
CO

Lu

(D
LO

0 k

g

@

2

R=$
g,9 5:97
- : A 2 0' %0 .
-Co W.\0

185 2= 'Z
4 t 0 0 ci ; 1,i
J 'Ei to .0 .9 Ala-

Z O 00 0 t V' .=
. 0 19 -5 0 1

2 0 N •: 'L 5 1'L E
.¤ 2 8 2 .8 1 l'. 8
[Sm23\1 a
2:22/2 5

E As> 28

8
0

5

<

_d
Z

DATE: 10/06/09
SCALE: N. LS.
DWG. BY: JK

CHK. BY: LFS

@

DRAWING NO.:

FL-13137.4

0

2

W

N

SE
0

SHEET 1 of 16

ZW

mZ
0-J

4 0

LU (/)

4%
52 (/)

&@
CL

Z

Q
U)

CK

8

Z

0

ID

CK

0'

0

0

N

0

Z

ln

Z

0

0



11

5
62

8'

ro

6

E
F

E

r,1

Cr,

I

i:Ij
Z

to
0.

XI
<0

00 U
-U

1

2

2

2

41.87' MAX

PANEL WIDTH

33"D.L.0
WIDTH

- 14.25" -

X

V

4

4

3

2

4

2

® DOOR PANELGlazed 42"

81 ir?

62

55

®® ®
\ /ll

»4»\\2       .. '--r --

51C==357

1

2

/Th HORIZONTAL CROSS SECT/ON

54

\

4 ®
HORIZONTAL CROSS SECTON 18

lit

/Th VERT/CAL CROSS SECTION

56

1
11

i I

ff
\\9\\

#

/Th VERTICAL CROSS SECT/ON

§
0

90

CL

Ch-

0
0

CD

be

CL

- G! 0'

58=
ON ·:

0

Maz

50.

5

.8

O0
-O E
t t

0

e
0

2

Cl-
D

\W
LO 1-

0

li

i 1 6

w. O
0 Z

€2,1 3
& 1 p• E

™d
Z

DATE: 10/06/09
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

U) >

SHEET 2 OF 16

COTEr
u UJ

as

0
0

U)
Z

0

5

CE

B

0

0

01

[9

Z

0
-1

J

CD

0

Z

5
J

0

1



tj
(1

2

01'

C.

S
22

2

Ct

C

j

M

F

..

r'

3
id
Z

io
0%

2

3

41.87' MAX
PANEL WIDTH

- 14.25" -

X

V

1

3

4

® DOOR PANELOpaque 42'

4

3

3

4

4

3

81

t///0
62

k

k
M.
CO

54 \®®®
\\ //1

1.-zz- f
.20\'' 1 V)/1/XZEZZED>1?/li?11,_' 113.44

/3-\ HORIZONTAL CROSS SECT/ON

A

/4 VERTICAL CROSS SECUON

llc

\

\

l.i'.

52
ft<

\\\

..I<t

/Th VERT/CAL CROSS SECTON

\I

51

58

11

11

11

/™»\ VERTICAL CROSS SECTION

8
8

0
0
0

C)

0 Of

EI

WR

C "C 60

6200.

Z 000

2 58

Wd,6 2
OZ 1
C

0.

494.
F j z .5 2 \3
5 mev-
2-:b 60
 Aif mB

-/ 15

5

0

_d
Z

DATE: 10/06/09
SCALE: N. LS.
DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

E 28

0

R

2

Cl.

\ W
LID 1--

0

SHEET 3 OF 16

Ce
0

Z<
<al
a-S
CC
0
0

0
U)

0£

W

a.

E

12

8

0

N

10

Z

0

0

ID

Z

0

m



e

CL

5

B
C

rn

m

F

&

e

0

0

I

id
Z

25

<g

1

4

2

4

36.0" MAX

PANEL WIDTH

27.0" MAX.

D.L.0 WIDTH

4

lil

11.25" 4 4
4

0

.I.

3

4

4

 SIDEUTE PANELHalf lite

®

\

1

4

55

lID ®

2--F
51

/'ih HORIZONTAL CROSS SECTON

54

\

® ®

HORIZONTAL CROSS SECTION

18

A

/\ VERT/CAL CROSS SECT/ON

11

11
56

28

52

\\i

\\

/3-h VERTICAL CROSS SECTION

i

a.

0
0

LU

--,2& .

JE©--
3>5

ON ·: CL =

9:ipo

84 2 8

5

i'9 : §

12 2 Ui
i tb) t

ck %

_6
Z

DATE: 10/06/09
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:.

FL-13137.4

0

Ct]

0

2

W

N

\L-1

k0

SHEET 4 OF 16

9

41

Z

@

U)
Z

0

0£

IX

0,

0

0

N

0

Z

3

Z

8
e

Z

J

m



g

8

5

2

f
E

2

CU

C.

5
62

Lri

0!

B
10

B
rn

r'n

0

I

Ed

I

0
-i

%
ih

g

1

5

1 17

36.0' MAX

PANEL WIDTH

27.0" MAX.
--1 --.

D.L.0 WIDTH

V

0

2

5

- SIDELITE PANEL
{ 41 )
- Full lite

1

5

54

\

®

HORIZONTAL CROSS SECTION

51

56

28

1

11

i..

/Th VERTICAL CROSS SECT/ON

i
0

0
0

ti

LU
3

CD

#0
0 2

911:N
:26#2
0 N ·: DJB.8z O<
56=1/00
20.£83

-' bi
195; EQ

5

2 £8

*En W
W Ocd z

e

@
0

R

-d
Z

DATE: 10/06/09
SCALE: N. LS.
DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

2

CL

\W

0

SHEET 5 OF 16

5

0-2

Lu-J

5=
OC
NE>
-J

0

CE

E

5

-1

0%

0

0

N

tl

Z

12

5
3

In

Z

0

0

Z

-1



N

2

5
62

S
E

i

3

1

4 I

ul 1-
ZI
<e

*I

9*
Oe

A

-! I

pg

M

2

6
V

111

118.75" PANEL WIDTH

116.25" D.L.0. WIDTH -

a

1" 1

1 111 /
0

1

- TRANSOM PANEL
(36)
L., Direct to lamb

117.25" PANEL WIDTH

108.25' D.L.O. WIDTH

0

® TRANSOM PANEL

'll

28

21

G1

/C\ HORIZONTAL CROSS SECT/ON

\\

®

/'T\ HORIZONTAL CROSS SECTION

3

§@

'0

4 LL r

p ·c ,)

4 00O2C

489:a-8
v 0*Z.8

0 9 .c28
95928.
A- ma-& m.0

0

00

8

5

4

i " rt 9
Spt; 7

W. 0

0 Z

0

0

_d
Z

DATE: 10/06/09
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

2

D

N

\ LU
M 1-

SHEET 6 OF 16

b
0<.

Z-

82.

Z

0

5

3

Ch

0

0

N

0

0

Z

Ul

Z

0

0

0

Z

0

J

CD



·tj

2

5
62

r.

01

-C'

S
C
rl

0

pl

2

NOTE:

1. Attach sidelite panel to the frame with
screws (#10 X 2-1/7' pfh) 2" from each end
and 6" o.c.

2. Staples located 1" from each end and 8'
o.c. thereafter

1

7

2

7

4j

1» 0111
2

9

If

1

9

/3\1

Iii

0

1 4

\19,/\197 10

3

9

V

4

7

1-1/4" MIN.

EMB. {TYP.)

8

.

A

21

22 SEE NOTE 2

G1

/Th HORIZONTAL CROSS SEC77ON
-,«,/ Shown w/ 1 X sub-buck

1-1/4"MIN.

EMB. (TYP.)

E
D

4

8

B

8

C

EXTERIOR

7

(14)

50 49

 HORIZONTAL CROSS SECTIONInswing shown - outswing
also approved

INTERIOR

11 T

31 C

SEE NOTE 1 8

EXTERIOR

INTERIOR 
@ 21

EXTERIOR

INTERIOR

7

5

%

&

22 SEE NOTE 2

HORIZONTAL CROSS SECTON

Inswing shown - outswing
also approved

1 A (46513
<17 (211 --

 SEE NOTE 2

 HORIZONTAL CROSS SECTIONInswing shown - outswing
also approved

A

9

3

1-1/4" MIN.

EMB. (TYP.)

8 SEE
NOTE 1

t
@

4

@ 2 648

g J » .i i 'f 5
.1.3 wd 2
 80 c i ji,1
A -C 4) 0 CH 1 . E R 'E.9 IV O-
01>9 liu J
680,2 1 3

& 0 M .: a orA EO 51 '. C
0 1 5 z %1,\ &
5 9 m 8 28'J Q
059280 g
& ma.al.m% v

2 ---Z t i J
i

E Af 28
1 \53
8
0

00
0
0

lu

CD

0

@

_0
Z

DATE: 10/06/09
SCALE: N.LS.

ONG. 8<: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

0

2

W

\W

*0

Sm

SHEET 7 OF 16

g

Z
JO

zp

0 (/)
TO

U

Z

0

05

Cl

0

0

M

/0

Z

0

J

m

U

Z

Z

Z

0

0

1

1



13

2
9>

F

S
62

2

c6

cr

B
-0

B
rn

S
E

8'

8

&

NOTE:

1. Attach sidelite panel to the frame with
screws (#10 X 2-1/2" pfh) 7' from each end
and 6" o.c

2. Staples located 1" from each end and 8"
o.c. thereafter

2

8

IP

*L__-1

.I.
0

111

:

1

.=27

4

X-%1

1

9

41

7

3

9

IP

0

4

*/U9// 10

1-1/4"MIN.

EMB. (TYP.)

 SEE NOTE 1
EXTERIOR

INTERIOR

21 40 41
A (C)

- 22 SEE NOTE 2

/h HORIZONTAL CROSS SECTON
Cl) Shown w/ 1 X sub-buck

1-1/4"MIN.
EMB. (TYP.) - D

8

8

- SEE

*NOTE 1

21 *®
22 SEE NOTE 2

HOR/ZONTAL CROSS SECT/ON
Inswing shown - outswing
also approved

EXTERIOR

INTERIOR

9

2

9

8 SEE
7 NOTE 1

21 (21

49 SEE NOTE 2

HORIZONTAL CROSS SECTION
Inswing shown - outswing
also approved

SEE NOTE 1 8

9

j

®® 14
SEE NOTE 2

7

3

50 49

EXTERIOR

- INTERIOR

 HORIZONTAL CROSS SECTIONInswing shown - outswing
also approved

0
0
0

ti
3

LU

0 CK

OL

./0

W=5
C ·C w

J >,9

2 0 N .:0
0 X Z

49.9
t 50.12
& m a.a.

8

12 21
W . 0

olz

-5.1 5
0< .. 0

28 Q

fl 1
5

28

0

DATE: 10/06/09
SCALE: N.LS.

DWG. BY: J K

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

*i

g

0

2

D

N

\ w.

0

0

SHEET 8 OF 16

Z

0 (/)
Z0

0

Z

0

U)

at

3

0

0,

0

0

N

0

Z

J

Ln

Z

8

Z

9
j

m

1 1

1

1 1

1



2

2

S

3

g

S

C'

NOTE:

1. Attach sidelite panel to the frame with

screws (#10 X 2-1/2" pfh) 2" from each
end and 6" o.c.

2. Staples located 1" from each end and
8' o.c. thereafter

SEE
28

NOTE 1

27

INTERIOR

%

31-- r-

_37 .- -4

EXTERIOR

Z 0-

ra

INTERIOR  EXTERIOR
/h VERTICAL CROSS SECT/ON

E

SEE
22

NOTE 2

21

INTERIOR

G1

6

%

t>

D

(i)
EXTERIOR

h VERTICAL CROSS SECUON

SEE
28

NOTE 2

27

INTERIOR

SEE

NOTE 1
8

li

/*

INTERIOR

EXTERIOR

4
EXTERIOR

/3-»\ VERTICAL CROSS SECUON

§
0

: Et B

CC
0
0
0

%
lu
3
CD
0

0

0

LL 0

i

e 5,

W. 2

0.d i E .1 5 gl
1 , p4 0 '6 ry
0 r 2 N.1

5 1 93:5 icL
:Zm
65 .828\'

Ai
.

g

CL

@

DATE: 10/06/09
SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

SHEET 9 OF 16

0

2

W

CN

SW
0

Z
0

---Im

5M

Lue-)

8

LL

i
4

U)
Z

0

U)

8
-0

-1

0

0

N

0

Z

r
Z

1

U]

Z

0

0

[0

Z

0

m



tj
CJ

2

S

3

§

S

./

S
C
m

S
'g

2

1

Z L

V

INTERIOR  EXTERIOR
33

V

11

/h VERT/CAL CROSS SECTION

V

9, 7

INTERIOR EXTERIOR

7 1

9 7

p

E

3 VERTICAL CROSS SECTION
10 /

Z L

ZE

A

35

INTERIOR

7

V

EXTERIOR

40 41

33

&'7

9 7

0»h VERTICAL CROSS SECTION

CL

0
0

ti
=1

LU

0 00

g
@
a-1

= 8=
 Elo

J >,9
0

" 52:
S ON·:

0

2 az

31:3
22£:B

* 11

E9

C

W .

0

11\

11{t

0

0

_d
Z

DATE: 10/06/09
SCALE: N.T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

5
CD

LE

0

2

%
CL
D

\W
LO E-

0

SHEET 10 OF 16

Z
0

<h

La (/)

0
CE
0

J
0, (»

' Z

U)
Z

0

U)

CL

W

E

[Z

01

0

0

N

Z

J

0

0

e

Z

0
J

m



ti

%
C.

5
22

g

0

31

0

E

2

r.

0

B
-0

B
rn

E

14.15" MAX
I.

ON CENTER

1

TYP. HEAD

ANDJAMBS

-Y

1 1

71 --

BUCK ANCHORING

il

11

11

11

11

11

1I

11

mullion

shown for

reference

only

-1

7
---LE

It
1 -fl

-T f r ™r
1 +
fl

%0

CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. ff concrete anchor locations noted as "MAX ON CENTER" must be
adjusted to maintain the min. edge distance to mortarjoints, adc#tiond concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

ANCHOR

TYPE

ITW

ELCO

ANCHOR

SIZE

1/4"

M/N.

EMBEDMENT

1-1/4"

1-1/4"

M/N. CLEARANCE TO

MASONRY EDGE

2-1/2"

1"

A

MIN. CLEARANCE TO

ADJACENT ANCHOR

3"

4"

4.:.

/1.

.

1 1

A.-66

TYP. HEAD

-AND JAMBS

1 1

13.5"MAX - -
ON CENTER

-r====
1 '\\ multion
11 N- shown for

11 reference

 3 only
1 1

11

11

1 1

11

BUCK ANCHORING

11

11

11

11

11

11

11

11

11

11

1I

11

1 I

11

Il

71 -

i:t

_1

-1

11

 C TRANSOM

f 11-11
_ irf . 6.
-T/24/

33
bo
f z
AO

5
8

§@

MIj
S tto
11 : 40

@Sd
" 5 Re
2oN..

e

W .

0

3Z
C

.2 .8

81 0412
13''i.§8

1 6< 2 8

_d
Z

DATE: 10/06/09
SCALE: N. LS.

DWG. BY: JK
CHK. BY: LFS

DRAWING NO.:

FL-13137.4

[n

5

(D

%
Z
0
Z

0
D

01

0

2

W

N

\W

SHEET 11 OF 16

@

bi

Z

Q
0

i

-1

DI

m

0

0

U]

Z

0

0

e]

Z

0

m



.6
(D

S
62

B

r=

C
m

S
M

I.

S

0

2

E
-0

E

a.

gl

- =C

4 .
C.

ED·

1

13.85' MAX.

ON CENTER

66_i- -T<--1-- r - i

C···:  TYP. HEAD
ANDJAMBSTX __/

BUCK

SEE -/
D

FRAME

MASON

OPENIN 1

HINGE JAMB

RY

G

1 1

r C i '1

T T

1--1 1//-
11 1 1£

i l

FRAME ANCHORING

0/XO

\C©

1

_1

--J
0 SEE

DETAIL 1

E

fr?

ih
I

-

STRIKE JAMB

CONCREIEANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortarjoints. /f concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortarjoints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor tab/e:

ANCHOR ANCHOR MiN. MUV. CLEARANCE TO M/N. CLEARANCE TO
TYPE SIZE EMBEDMENT MASONRY EDGE ADJACENT ANCHOR

ITW

ELCO

[TW

1/4'

1/4"

3/16"

J

1-1/4"

1-1/4

1-1/4"

2-1/2"

1"

2-5/8"

32 0
·Z
I0

4"

2-1/4"

EL-

ti
ER

-J =C

P- E[].
C.

2

HINGE JAMB

.

02X

BUCK

SEE_--.
DETAIL 1

FRAME

MASONRY

OPENING

/1 1 1

ili.<"1,.. 1 1

8

8

13.26"MAX.

ON CENTER -
, i ll--1 -11

TYP. HEAD
8

AND JAMBS

9

7' -

3'-----

FRAME ANCHORING

0/OXO

9

8

- 6"

-1

ic>

BUCK
c--3 ----41;$

HINGE DETA/L DETAIL 1 
2X Buck

11

h0

38

.g

SEE

DETAIL 1

E

ir?

STRIKE JAMB

E i m j §
dR SE 49

- 84» .
62*wdld

& i 9 1 liti t
·o g 82 '04['b
 § AW 28'·AC

 * :i i-1
E AB 83
8

0
0
0

b

LJ
D

CD

Gi 0
Ok

aL

5

0

0

2

C.
D

\W

4%
0

™d
Z

DATE: 10/06/09
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

E ZO

SHEET 12 OF 16

CD

0f
TO
0D
ZC[1

Z

0

U)

B

CK

[1

0

0

N

0

Z

5

0

e

Z

0
.1

J

m



CD

2

5
6/

2

0

b
8

e

f

=r

S

-0

B
rn

rn

C

LO

h

ST

1- m

b

E[].

HINGE JAMB

1X

BUCK

SEE

DETAIL 1

FRAME

MASONRY

OPENING

r

13.85" MAX.

ON CENTER

TYP. HEAD

F ANDJAMBS

111

11

F

_1

1 11 1

9*Ift; A T, d %- -4 1--6"

FRAME ANCHOR/NG

0/XO

EO SEE

DETAIL 1

3=

--

r!

N ir,
- CM

STRIKEJAMB

ir>

CONCRETE ANCHOR NOTES:

1. Substitution ofequal concrete anchors from a different supp#er may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortarjoints. ff concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the mir}. edge distance to mortarjoints. additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded. 14

3. Concrete anchor tab/e:

ANCHOR ANCHOR M/N. MIN. CLEARANCE TO MIN. CLEARANCE TO
TYPE SIZE EMBEDMENT MASONRY EDGE ADJACENT ANCHOR

ITW

ELCO

ITW

1/4"

1/4"

3/16"

1-1/4"

1-1/4"

1-1/4"

2-1/2"

1"

2-5/8"

3"

4"

2-1/4"

0

O.

L=C

Er?
C>

1X

BUCK

SEE

DETAIL 1

FRAME

13.26" MAX.

 ON CENTER
-

1 1 i lilli

1/1

8

-1

TYP. HEAD
F -

AND JAMBS

lili[/-3
1 14 -j

1-

1 11

9

F

6"

_1

-f
0 SEE

DETAIL 1

9

· MASONRY

OPENING 

141 1
- ,.11 lili 1 11 1

ul IJz- -4 4 6"

HINGE JAMB

#
HINGE DETAIL

0/XO

h U

=Z

ih

A Er)

' pl

1/,

FRAME ANCHOR/NG STRIKE JAMB
0/OXO

12

-/

/KbekN
14 14 Y r6 7„:L'25\

51- -
% 11 1

HINGE DETAIL

O/OXO DETAIL 1 0

I

70

1X

BUCK

0
0

lu

(.5

g@

@

1 5,5 2
014 50 +

: 2 9 1/3,8£ 4

Li>* iIfY.-
205'62UE
0 A O

f I :3 iNt j
C

0.9 5

E R 28
8
0

-d
Z

DATE: 10/06/09
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

5

@
0

R

2

D

CN

\ 111
01-

EM

SHEET 13 OF 16

0%
ZO
03
zon

Z

0

CK

Ct'

0

0

M

8

Z

ID

0

Z

1

tn

Z

0

0



t;
QU

2

2

S
62

5

e

S
m

8'

S

rl

0

.

0

US
14,6

-V
,

65

2

®

j ®1
1 74

* tal \

3 POINT LOCK DETAIL
W & F Trilennium

%

STRIKE DETAIL

CC
0
0
a

b k

0-

dE
Z

:2

C'CO

58=
2 0 N ·:

0

v egz

0

_d
Z

DATE: 10/06/09
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

*i

0

j
%,9L

Wd 6
Ez\¥

0

0.2

Ze
28

@
0

R

2

El.

N

\LU

0

E ZE

SHEET 14 OF 16

5
R
III
0

d
Z

IJ
6

g

U)
Z

0

E
OC

0

0

N

Z

J

!0

Z

0

0

Z

0

m



2

a,

S

U

C

3
fo

Z

.r

LA

I.

-0

S

CD

f
Ki

f

NOTE:

1. Pins are 5/8" x 5' centered half in the rail, half in the stile.
2. Door panel wood SG. >= 0.42

4.5"

 HINGE AND LATCH STILEGbzed

4.5' -

 HINGE AND LATCH 51/LEPanel infil

4.5"

/* MID STILE

0

-4

4.5" .

- 1.75" -
2=«BEEN}

14--9
 HINGE AND LATCH SHLEPanel infil Panel infil® TOP RAIL

SEE NOTE 1

(Typ) 18

1
D

CS

f
3

-4

1

4_-A

<Zil

® BOTTOM RAILPanel infil

0.67"

0.

- 1.75" -

9---53=».

® BOTTOM RAILGlazed

W

L

11

56 GLASS STOP

0.67' --1 1--

® MID RAILPanel infil

®TOP RAILGlazed

--- 1.75' -

0,44'-

1-

21' PANEL STOP

0

A

Cl

f

1

Lo

- 1.75'-

1 1.

li

\\9\\

® LOCK RAILPanel infil

- 1.75" --1

1%\\
*7-

® LOCK RAILGlazed

Er)

1<

0.67'

Ift

L

K
m

a

E
£1-

B
C

e

0
0
0

LU

(LD

0 Ir

g

@

d

W. 0

Z

10

S:

92
-J:

O j

Eo!Bz I
6.Wgicl
50© :.2,1

§%1£3U
e x 2 +Srk

m al- a. m *

Ct

e< 2 8

0

E

DATE: 10/06/09
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

0

2

3

CN

\ W
lo 1-

SHEET 15 OF 16

g

0
0

Z

0

CE

11
E

bi

5

CK

61

0

0

Z

0

m

U

Z

J

(0

Z

0

0



C.

S
U

2

.r

E

C"

-0

C

S
E

5
8'
%
e

CD

b

/,EM#

A

B

C

D

K

2

3

7

8

9

10

12

14

15

16

17

18

19

20

21

22

23

28

30

33

34

35

36

40

41

49

50

51

52

53

54

55

56

57

58

59

62

65

66

70

E

F

DESCR/PnON

BILL OF MATERIALS

1 X BUCK SG >= 0.55

2X BUCK SG >= 0.55

1/4" MAX. SHIM SPACE

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

1/4" X 3-3/4" ELCO OR ITW CONCRETE SCREW

1/4' X 2-1/4" ELCO OR ITW CONCRETE SCREW

3/16" X 3-1/4" ITW CONCRETE SCREW

DOOR HEADER AND JAMB 1-1/4' X6- 9/16" (SG => 0.42 PSF)
SIDELITE HEADER AND JAMB 1 -1/4" X6- 9/16' (SG => 0.42 PSF)
WEATHERSTRIP

#10 X 2-3/4" PFH WS

#9 X 2' PFH WS

#10 X 1-1/7' PPH

HINGE

1/4" X 3/4' PFH WS

DOOR SWEEP

#6 X 1 /2' PPH WS

PANEL INFIL

5/8' DIA. X 5" PIN

.375' GLAZING SPACER

SEALANT

3/8'X 1/2" PANEL STOP

1"BRAD

MULTI-POINT STRIKE PLATE

1/4" X 1" 16GA. STAPLE

1-1/2' MULLION SG. 2 0.55

THRESHOLD (INSWING)
THRESHOLD (OUTSWING)

INSWING SIDELITE ADAPTER

TRANSOM

SIDELITE PANEL (3/4 UTE)
SIDELITE PANEL (FULL LITE)
DOOR PANEL (GLAZED)

DOOR PANEL (OPAQUE)

TOP RAIL

LOCK RAIL

BOTTOM RAIL

HINGE AND LATCH STILE

MID STILE

GLASS STOP

BACKING PLATE

MID RAIL

#8 X 3/4" PFH MACHINE SCREW

LOCK ASSEMBLY 3 POINT LOCK (SINGLE DOOR) W&F Trilennium
#10 X 1-1/2" PFH WOOD SCREW

#8 X 1-1/4' PFH MACHINE SCREW

MULLION CUP SIMPSON Strong-tie A23Z

MATERIAL

WOOD

WOOD

STEEL

CONCRETE

STEEL

STEEL

STEEL

WOOD

WOOD

FOAM

STEEL

STEEL

STEEL

STEEL

STEEL

ALUM

STEEL

WOOD/COMP

WOOD

ALUM

SILICONE

WOOD

STEEL

STEEL

STEEL

WOOD

WOOD

WOOD

WOOD

WOOD

WOOD

WOOD

STEEL

WOOD

STEEL

STEEL

STEEL

STEEL

STEEL

4

---

5.83'

53 INSWING THESHOLD

2.28' -

EO.06"

/15 DOOR SWEEP

,
fo
0!

5"

-1
©

1 1
CS

6.56"

1/2" GLASS BITE -

T--

4

1_

-/-\DOOR JAMB

4.63"

2.4"

E-n
® OUTSWING THESHOLD

® ®®
* GLAZING DETAIL

20

1/2" THICK GLASS

1/8" TEMPERED GLASS

- AIR SPACE

 1/8'TEMPERED GLASS

12
i
0

i
[1.

&

0
0

b e

H i
0-

dR
Z

:2
0 r

58:
p .C in
-IB©

@>d
520
ON ··

ti
11
9§

O\

Ez J

8 CAN W

22Ad
2 i liX 'E

2 5 2 .6 it'NA

8428

_d
Z

DATE: 10/06/09
SCALE: N. LS.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-13137.4

*i

0

E
89

W .

@
0

2

W

(1

\ LU

SHEET 16 OF 16

(/SU
U 2

<C

Z
LL <
0

CD
a-

0
0

U)
Z

0
C/}

ac

01

[]'

0

0

N

0

Z

Z

U)

Z

0

0

Z

0

3

CD


